R3HATET EKiE

O kKERERKREEG®
HKERB| $M3E4F128 | HHESA27E | $M3F6HIA | $ETH28H | SM3EIA 138 | SFFIFI08 | $F3E10A188| SHBF11A308| $HME12878 | $M4E17268 | $4EF2898 | H4E3A168
wxies | oSt | obimam | omam | camam | Geman | Gemam | wesm | Gwam | e | Gweam | ek | Gmem
BRKERR o wmw | 2owm | meom | owom [ A N N - W | E-W | W
KB 18.0°C 18.0°C 31.0°C 32.0°C 28.0°C 28.0°C 18.0°C 18.0°C 11.0°C 12.0°C 10.0°C 20.0°C
*iE 16.0°C 20.0°C 230°C 28.0°C 26.0°C 250°C 24.0°C 15.0°C 130°C 9.0°C 100°C 140°C
— R &/ml 0 0 0 0 0 0 0 0 0 0 0 0
AEE - TR TR T T T T T T T T T T
HEEVLRUZDELEY mg/| 0.00035K i = 0.00035K = 0.00035K = 0.00035K# = 0.00035K# = 0.00035k -
KBRUZDIEEY me/| 0.000055k i = 0.000055K i = 0.000055k i = 0.000055K i = 0.000055K i = 0.000055 i =
TLURUZDIEEY mg/| 0,001k = 0.0015K# = 0,001k = 0.0015K:# = 0.0015K:# = 0.0015K5# -
BRUZFDIEEY mg/I| 0.0012K 5% - 0.0012KiH - 0.0012KiH - 0.001K5H - 0.001K5H - 0.0015K5#% -
ERRUZDIEEY mg/| 0,001k = 0,001k = 0,001k = 0.0015K:# = 0.0013K:# = 0.0015K5# -
ANEIOLERVFDEEY mg/I| 0.0025K 55 - 0.0025K 55 - 0.0025K 55 - 0.0025K 55 - 0.0025K 55 - 0.0025 % -
EHEREER mg/| 0.0045K = 0.0045K = 0.0045K = 0,004 = 0,004 = 0.0045K# -
TUAAF U RBELLTY | me/l 0.0015Ki# = 0.0015Ki# = 0.0015Ki# = 0.001Ki& = 0001Ki& = 0.0015Ki& =
HREERRUERBREER mg/| 047 0.73 048 058 0.72 0.62 057 0.69 0.75 0.60 059 053
TVRRUZDIEEY mg/| 0.06 = 0.05 = 0.05 = 0.055K i = 0.055K & = 0.055K# -
RORRUVZDIEEY mg/| 0.02 = 0.02 = 0.02 = 0.02 = 0.02 = 0.03 =
migLER me/l | 000025k - 0.00025 % - 0.00025 % - 0.00025 % - 0.00025 % - 000025k -
1, 4—SFFHY - 00055k = 0.0055ki% = 00055k = 0.005:ki% = 0.005:ki% = 000553 =
FEONETEISATTLARY | g | 00002k - 000025 % - 000025 % - 000025 % - 000025 % - 000025 3% -
sonniey mg/| 0.00025K# = 0.00025K 5 = 0.00025K 5 = 0.00025K 5% = 0.00025K 5% = 0.00025K -
FhSoAATFLY me/l | 000025k - 0.00025 % - 0.00025 % - 0.00025 % - 0.00025 % - 000025k -
rJooaIFLY mg/| 0.00025K o 0.00025K = 0.00025K o 0.00025K# o 0.00025K# o 0.00025F -
Roty me/l | 000025k - 0.00025 % - 0.00025 % - 0.00025 % - 0.00025 % - 000025k -
1ERE mg/| 0.065K i = 013 = 007 = 0.08 = 0.06:K# o 0.065K% -
yOOEE mg/| 000253 - 0,002 - 0,002 - 0,002 - 0.0025 3% - 00025 -
I=1=L VN me/| 0.0149 - 0.0285 - 0.0052 - 0.0042 - 00074 - 00027 -
SoOOEE mg/| 0005 - 0003 - 0,004 - 0.002 - 0.004 - 00025 -
SInEH/O04Y me/| 0001 - 0.0019 - 0.003 - 0.0022 - 00012 - 00017 -
KR mg/| 0.001Ki# = 0.001K5# = 0.001Ki# = 0.001K5# = 0.001K3# = 0.0015K3# =
[N =PE mg/| 0.0204 - 0.0394 - 00131 - 00103 - 00124 - 0007 -
~ o OOEE mg/| 0007 - 0011 - 0003 - 0.00253# - 0.005 - 00025 -
JRESHO04Y mg/| 0.0045 - 0.0090 - 0.0046 - 0.0037 - 00038 - 00026 -
JnERILL me/l | 000025k - 0.00025 - 0.0003 - 0.0002 - 0.00025 % - 000025 -
RILLTILTER mg/| 0.0085 i o 0.0085 i = 0.0085 i o 0.0085K i o 0.0085 o 0.0085K# -
BRRUZOEEY mg/| 001K = 001Ki& = 001Ki& = 001KiE = 001KiE = 001K =
TIEZILRUEDIEED mg/| 0.04 = 0.03 = 0.03 = 003 = 0.02 = 0.02 =
HRUZDIEEY mg/| 003K 003K 0035k 0.03%i% 0.03%i% 0.03ki% 0.03%i% 0.03ki% 0.03%i% 00353 00353 0035
FARUVZDLEEY mg/| 001K o 001K = 001K o 0.01Ki& o 0.01Ki& o 001K -
FRIDLRUZDIEED mg/| 52 = 58 = 71 = 6.0 = 5.7 = 45 =
RUAVRUZDIEEY mg/| 0,001k o 0,001k = 0,001k o 0,001k o 0,001k o 0.0015K3# -
b= 47 R me/I 70 88 9.6 104 19 79 90 90 8.2 83 90 1.2
77?{{;':;/2%%\(&&) mg/| 38.8 - 343 - 45.3 - 36.3 - 36.7 - 33.2 -
EREEEY mg/| 64 = 66 = 92 = 88 = 94 = 92 -
BEA 74 REEEH me/I 0025k = 0.025 i = 0.025 i = 002K = 002K = 002K =
JIARIY mg/| 0.000001 - 0.000002 - 0.000001 53 = 0.000001 53 = 0.000001 - 0.000001 -
2= AFILAVYRILRA—IL mg/| 0.000001 K i# - 0.000001 - 0.000001 3K i - 0.000001 - 0.000001 3K - 0.000002 -
FAAYREEMF mg/| 0.0025K i = 0.0025Ki# = 0.0025Ki# - 0.002:K - 0.002:K = 0,002k -
Jr/—ILEE me/I 0.00055 i - 0.00055 i - 0.00055 i - 0.00055 % - 0.00055 % - 0.00055k % -
HEMEE#RRETOCOHR) mg/| 05 07 0.6 08 04 04 04 04 06 04 04 05
pHIE - 742 7122 719 7.35 7121 7121 7.35 745 7122 739 137 157
Bk - BELL BELL BELGL BELGL BELGL BELGL BELGL BELGL BELGL BELGL BELL BELGL
L - REEGL REEGL BELL BELL BELL BELL BELL BELL BELL BELL BELL BELL
'E -4 iES] iES] IS} IS} IS} IES] IES] IES] iES] iES] iES] iES]
AE -3 015K 015K 015K 015K [RE S 01K [RE ST [RE ST 0.1k 0.1k 0.1k 0.1k
BBIER mg/| 038 0.32 0.29 0.16 0.60 053 0.50 055 052 052 048 0.49




